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Introduction
RAN#73 approved the revised WID on V2X in RP-161894 including:
j) Support for traffic with smaller periodicity on PC5 based V2V using shorter resource reservation period   [RAN1, RAN2]
i. A solution not agreed by RAN1#86bis/RAN2#95bis shall not be considered for standardization.
In this document, we discuss this topic.
SA1 requirements
TS 22.185 section 5.2.1 provides latency requirements for V2X requirements as follows:

	[R-5.2.1-001]
The E-UTRA(N) shall be capable of transferring messages between two UEs supporting V2V/P application, directly or via an RSU, with a maximum latency of 100ms.

[R-5.2.1-002]
For particular usage (i.e., pre-crash sensing) only, the E-UTRA(N) should be capable of transferring messages between two UEs supporting V2V application with a maximum latency of 20ms.

[R-5.2.1-003]
The E-UTRA(N) shall be capable of transferring messages between a UE supporting V2I application and an RSU with a maximum latency of 100ms.


From the requirement, we observed that the maximum latency with 20ms as well as 100ms should be supported for sidelink communication. 

Observation: the maximum latency with 20ms as well as 100ms should be supported for sidelink communication.

Shorter resource reservation interval
In 36.321 section 5.14.1.1, UE sets the resource reservation interval as follows:
-
select an integer value in the interval [1, 10] from the allowed values configured by upper layers in restrictResourceReservationPeriod and set the resource reservation interval by multiplying 100 with the selected value;

As specified above, the current MAC specification supports 100ms, 200ms, …. and 1000ms as resource reservation interval. It means that 20ms latency requirement cannot be met from 36.321. For some cases, the resource reservation interval should be calculated by multiplying 20 with a selected value in the interval [1, 10]. Note that RAN1 will also discuss this topic. RAN1 may support more values than 10.
Proposal 1: For some cases, the resource reservation interval should be calculated by multiplying 20 with a selected value in the interval [1, FFS]. RAN1 will further discuss what FFS is.
Thus, 100 should be changed to a variable RSV_INTERVAL. The value of variable RSV_INTERVAL is set to either 20ms or 100ms. Then, the resource reservation interval is calculated by multiplying RSV_INTERVAL with a selected value in the interval [1, FFS]. Thus, we will additionally support 20, 40, 60, … and so on.
Proposal 2: The resource reservation interval is calculated by multiplying RSV_INTERVAL with a selected value in the interval [1, FFS]. The value of variable RSV_INTERVAL is set to either 20ms or 100ms.

SA2 recently replied in R2-166021 to RAN2 LS as follows:

“SA2 considers the PDB as the latency requirement from the application layer (i.e. 20ms or 100ms as defined in TS 22.185). The latency can be derived from PPPP by the AS layer, which is based on the mapping between the PPPP and latency provided by configuration to be defined in SA2.”
As agreed in SA2, the latency with 20ms can be derived from PPPP by AS layer. Thus, a UE may configure one or more logical channel with 100ms or one or more logical channel with 20ms because each sidelink logical channel has an associated PPPP. 
Considering SA2 agreement, we propose that for multiple transmissions of multiple MAC PDUs, UE derives the value of variable RSV_INTERVAL from the PPPP associated with the MAC PDUs to be transmitted. In this case, it seems likely that reserved multiple transmission opportunities with the resource reservation period should be used for STCH(s) associated with the PPPP
Proposal 3: for multiple transmissions of multiple MAC PDUs, UE derives the value of variable RSV_INTERVAL from the PPPP associated with STCH(s) where the MAC PDUs to be transmitted.
Conclusion

In conclusion, we propose that RAN2 agree the followings for SPS. 
Proposal 1: For some cases, the resource reservation interval should be calculated by multiplying 20 with a selected value in the interval [1, FFS]. RAN1 will further discuss what FFS is.

Proposal 2: The resource reservation interval is calculated by multiplying RSV_INTERVAL with a selected value in the interval [1, FFS]. The value of variable RSV_INTERVAL is set to either 20ms or 100ms.

Proposal 3: for multiple transmissions of multiple MAC PDUs, UE derives the value of variable RSV_INTERVAL from the PPPP associated with STCH(s) where the MAC PDUs to be transmitted.
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